A7 —THERL TS ZEN,

ERT2BEDO<ENME

DRTFZ LTLIEIN,

%3 rm (OR)

pILIA
~HE
B A ERDALE

SNBLDOER 5y DR ELOTESR
= EiF o~
REBTEHLTLIEEN,

EAR(10R6/4)

7 A

=R (10R6/4)

B4t (78)

S\ EE (10Y8/3)

N\

AN

| iz (10YRS/3) |

v

T (= g (o) ElE (%)
6.200 ¥ o0 0 i | BAR | 10R6/4 11.3 12.1
X H TV | HREE | 10YRS/3 53.3 56.9
A DEy K7 | N5 8.1 8.7
¥ & 08 i HF = 135 14.4
7RGy 7.4 7.9
J—h
7t 93.6 ni 100%
\4
\ 4
(a7 U —=rMTHo8L)
&y mfE () ElE (%)
f/é N S
FOR | gm | 10R64 11.3 12.1
S hTw
24y S4B | 10YRS/3 58.3 62.3
¥ o ) i H T A 16.6 17.7
SnTWw | FME 5, 25.6
TRUNERSY b 1 7.4 7.9
= 93.6 i 100%

7 A

S (227 ) —MTHo ML)

MR 1 : 000
(1/100 L ED b DTH B Z L)




ShEE (10YRS8/3)

\

— Bk (10R6/4)

4 6,200
. Satte House
2HL) B A 3,500
\ \ |
! \ 500 }
% A (o) HE (%) BRI \_ 55 =
FeR | gm | 10Re/ 70.2 295
S hC || %1 @ (b
54y SpEE | 10YR8/3 98.4 41.3
% N i oA 35.7 15.0 ERICEREY UITIEYICHETE A
ENTW|FEML [ 5 o, 22.3 ERI—DOBEERHL TSN,
FRUNERSY Dk 17.3 7.3 AR (10R6/4)
BANREY 16.4 6.9
2} 238 100% / f
4L
6,200
\ \ v
3 wE () | ES (%) - j}x
¥ DN Jii Z
L B | 10R6/4 78.4 32.9 S (10YRS/3)
55 S\BE | 10YRS/3 112.9 47.4 R (27 V= MMTHoHL)
=1N9A)
o s b HF = 21.6 9.1
¥ 0 0 i P —— TR 1:000
\ L —
ShTw | Rha | F7 Vb 173 73] 197 (1100 U ED b DTHB = &)
RNy ABFET 7.8 3.3
3t 238 it 100%




